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
 
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

–
 

H. + .H → H-H 


17(F2,Cl2,Br2,I2)17
CCl416

1514 


 
σ 

 
 


              
 

ssspPP 
multiple covalent bonds 








–– 
 

 ٤





O2


N2

π
 

 
P 

              
 

the strength of covalent bonds 


 
           
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